Emergency Management Assistance Compact (EMAC) Interstate Mutual Aid Request For Assistance Form REQ-A, 2011



1102-REQ A-5287-1-1

SECTION I TO BE COMPLETED BY THE REQUESTING STATE

Exercise or Event:	Event	New or Amendment #:	Amendment 1
Event	Dakota Access Pipeline	e (DAPL) Protest October 2016	
Date	10/27/2016	Requesting State	ND
State Mission Tracking #:	16-073-154	EM Software Tracking #:	16-073-154
Requesting Agency:	North Dakota	EMAC Tracking #:	1102-RR-5287

Requesting State REQ-A Contact

First Name:	Brandon	Last Name:	Hoechst
Phone 1:	701-328-8174	Phone 2:	701-595-6670
Email 1:	bhoechst@nd.gov	Email 2:	nddes@nd.gov

Resource Request

Mission Type/Source:	State	Type/Status	Law Enforcement	
Mission Description:	37 Ohio Sworn Law Enforcem	ent Officers		
Resource Description:	Officers will be assisting in a situation involving civil unrest and criminal activities related to opposition of the Dakota Access Pipeline (DAPL) project, primarily in southern Morton Count North Dakota.			
	(QRF). Mobile Field Force (N	ΛFF)	uties within the Quick Response Force	
	Immediate Action Team (IAT) Recon Team			
	Arrest Team Transport Team			
	Patrol within Morton County			
	Traffic Control			
	Requesting Agency will reimb		time, for officers deployed to North Dakota	
	Desired deployment is 14 days on site with 2 travel days for a total of 16 days			
	Additional Skills and Equipme	nt (if available):		

	1.)	Riot Control Equipme	nt (helmet/baton/shield/gas m	nask/MFF uniform if issued one.)
	2.)	Winter weather clothing	ng if issued. (October & Nove	mber is very unpredictable for weather
	in North	in North Dakota.)		
	3.)	.) 40/37mm chemical munitions launcher if officer is a certified operator.		a certified operator.
	4.)	4.) Vehicle (If available)		
	a.	A 4 x 4 marked vehicle	is preferred, but not required	i.
	b.	1 vehicle for every 2 de	eputies/officers.	
	5.)	5.) Preferable, but not required, officers be mobile field force trained (i.e. riot control, civil		
	disturbance) and deploy as a team.			
NIMS Type:				
# Requested	37		# Type:	Personnel

Deployment Dates (Including Travel Days)

Deployment Date:	10/29/2016	Demobilization Date:	11/14/2016
Duty Length	17		

Deployment Details

Work Location / Facilities	Field Impacted Area		
Location / Facility Name	Mandan Airport		
Address 1	4492 Hwy 6		
Address 2		;	
City	Mandan	Zip Code	58554
Working Conditions	Normal - Infrastructure & Support services operational		
Comments:	Officers may experience extended periods of exertion, and should be physically fit and prepared to operate in an outdoor environment with unpredictable weather.		
Living Conditions	Normal - All amenities available		
Comments:	Lodging will be arranged		
Logistics Comments:	Lodging will be arrange per diem authorized fo	ed for and provided for deputies/officers. or other meals.	Meals are provided while on duty,

Identify Health & Safety Concerns (All Selected Apply)

	No Safety or Health Concerns have been Identified
Immunizations or Vaccinations are suggested to deploy	
X	Environmental Hazards Exist
X	Personal Protection Equipment Needed
Safety Concerns / Remarks	Civil disobedience situation

Requesting State Resource Coordination Contact

First Name	Brandon	Last Name	Hoechst
Title	Logistics	Agency	North Dakota Emergency Services
Phone 1	701-328-8174	Mobile	701-595-6670

Email 1	bhoechst@nd.gov	Email 2	nddes@nd.gov

Staging Area and Point of Contact

POC First Name	Paul	Last Name	Laney	
Phone 1	701-667-3224	Phone 2	701-212-0581	
Location/Facility Name	Morton County TOC Ma	andan ND		
Address 1	210 2nd Ave NW	210 2nd Ave NW		
Address 2				
City .	Mandan	Zip Code	58554	

The EMAC Authorized Signature below certifies that information contained herein accurately represents to the best of their knowledge, the resource request at this time

Signature of EMAC Authorized Date	Name of EMAC Authorized Representative	GREG M. WICZ, Din	CCTON
Representative // // //	Signature of EMAC Authorized	- 11	
	Representative	$//m_{l}/l$	10/

Emergency Management Assistance Compact (EMAC) Interstate Mutual Aid Request For Assistance Form REQ-A, 2011



1102-REQA-5287-1-2

SECTION II TO BE COMPLETED BY THE ASSISTING STATE

Assisting State:	ОН	State TN#:
Assisting Agency:	Ohio State Highway Patrol	State EM TN #:

Offer Description

Mission Start Date:	10/31/2016	Arrival Date:	10/30/2016					
Departure Date:	11/14/2016	Mission End Date:	11/13/2016					
# Mission Days:	14							
Mission Type	State	Type / Status	Law Enforcement					
Mission Description	36 Ohio Sworn Law Enfor	cement Officers						
Resource Description	Officers will be assisting in Dakota Access Pipeline (I Dakota Access Pipeline (I Mobile Field Formatter Immediate Action Recon Team Arrest Team Transport Team Patrol within Mon Traffic Control Requesting Agency will refill at home station. 1-2 OSP personnel will be any travel costs for Troop deployment. OSP will deploy as one M Details is a unified comma Highway Patrol Troopers Sheriff in command of the Ohio State Highway Patrol Force/Response to Resis Ohio State Highway Patrol Troopers Sheriff in Command of the Ohio State Highway Patrol Troopers Sheriff in Command of the Ohio State Highway Patrol Troopers Sheriff In Command of the Ohio State Highway Patrol Troopers Sheriff In Command Incommand	n a situation involving civil unrest and cri DAPL) project, primarily in southern Mort to perform one of the following duties with the (MFF) In Team (IAT) In Team (IAT) In Team (IAT) In Team deformation and the second and the second are shaving to travel back to North Dakota In Team deformation and the North Canada and under Sheriff Paul Laney and the North Interest and law a detail pursuant to authority in N.D. Cent to reserves the right to follow its own operations.	officers deployed to North Dakota but not back- will not serve on-duty. North Dakota will pay a for court appearances resulting from this ers, and on the same scheduled shifts. orth Dakota State Highway Patrol. Ohio State enforcement authority by the North Dakota t. Code, § 11-15-02. rational policies, including Use of					

	6.) 7.) 8.) 9.) 10.) 11.)	
	the event lodging is not (lunch and dinner) while	y lodging at deployment for the following nights: October 30, 2016- November 13, 2016. In supplied OSP will be reimbursed hotels at GSA rate. North Dakota will supply two meals on duty. For OSP personnel that do not receive meals on duty, meals will be reimbursed this will include reimbursement of a third meal (breakfast) at per diem at GSA rate for all
	up to 15 hour at overting	pers include 11 days at 8 hours normal rate and up to 7 hours at overtime rate. 4 days at the rate (weekends). One day at holiday pay rate of 2.5 time.
	Munitions cost will only Travel estimates includ	be incurred if used. e use of government vehicles at .52 per mile.
NIMS Type:		
# Requested:	36	# Type: Personnel

In-State Resource Point of Contact

First Name:	Last Name	
Phone 1:	Phone 2:	
Email 1:	Email 2:	

Assisting State REQ-A Contact

First Name:	Phillip	Last Name	Johnson
Phone 1:	614-799-3680	Phone 2:	614-935-0550
Email 1:	prjohnson@dps.ohio.gov	Email 2:	

Total Mission Estimated Costs

Travel:	\$108,849.00
Personnel:	\$454,063.36
Equipment:	\$4,408.00
Commodities:	\$9,726.00
Other;	\$10,000.00
EST. TOTAL COST:	\$687,315.61

Travel

Personal Vehicle Costs:	\$0.00	Rental Vehicle Costs:	\$0.00	Gvt. Vehicle Costs:	\$75,504.00
Air Travel Costs:	\$600.00	Meals & Tips (Receipt):	\$0.00	Meals & Tips (Per Diem):	\$14,630.00
Lodging: \$17,490.00		Parking Fees:	\$625.00	Shipment & Transportation:	\$0.00
Identify any transpor	tation requirements:				

Total: 37					

The EMAC Authorized Signature below certifies that information contained herein accurately represents to the best of their knowledge, the resource request at this time

Name of EMAC Authorized Representative	SIMA S. MERICK 1	
Signature of EMAC Authorized	0 0 11 1	Date
Representative	/ - / MI //	10/3-7
	Atum A. Murey	12/16

Personnel Costs

ID	Name / Phone / Email	Rég. Salary Hourly Rate	Fringe Benefit Hourly Rate	Reg. Hours Worked Per Day	OT Salary Hourly Rate	OT Fringe Benefit Hourly Rate	OT Hours Worked Per Day	# Days	Total Daily Cost	Total Mission Cost
				8.00		1.3591632-11111111 <u>1111</u>	7.00	16	\$1,291.61	\$20,665.76
				8.00	-		7.00	16	\$610.15	\$9,762.40
				8.00			7.00	16	\$1,048.18	\$16,770.88
				8.00		-	7.00	16	\$897.22	\$14,355.52
				8.00			7.00	16	\$887.62	\$14,201.92
				8.00	-		7.00	16	\$884.32	\$14,149.12
				8.00			7.00	16	\$868.20	\$13,891.20
				8.00			7.00			
								16	\$874.57	\$13,993.12
				8.00			7.00	16	\$762.08	\$12,193.28
				8.00			7.00	16	\$641.72	\$10,267.52
				8.00			7.00	16	\$748.06	\$11,968.96
				8.00			7.00	16	\$723.01	\$11,568.16
				8.00	-		7.00	16	\$723.01	\$11,568.16
				8.00			7.00	16	\$672.77	\$10,764.32
				8.00			7.00	16	\$686.64	\$10,986.24
				8.00			7,00	16	\$641.72	\$10,267.52
				8.00			7.00	16	\$641.72	\$10,267.52
				8.00	-		7.00	16	\$558.70	
										\$8,939.20
				8.00			7.00	16	\$750.91	\$12,014.56
				8.00			7.00	16	\$1,031.21	\$16,499.36
				8.00			7.00	16	\$686.64	\$10,986.24
				8.00			7.00	16	\$745.21	\$11,923.36
				8.00			7.00	16	\$737.11	\$11,793.76
							and the same of th			

	8.00	7.	00 16	\$762.08	\$12,193.28
	8.00	7.	00 16	\$725.86	\$11,613.76
	8.00	7.	00 16	\$745.21	\$11,923.36
ACT AND A DIA AND AND AND AND AND AND AND AND AND AN	8.00	7.4	00 16	\$762.08	\$12,193.28
	8.00	7.	00 16	\$641.72	\$10,267.52
	8.00	7.	00 16	\$731.48	\$11,703.68
	8.00	7.	00 16	\$725.86	\$11,613.70
	8.00	7.	00 16	\$725.86	\$11,613.76
	8.00	7.	00 16	\$728.71	\$11,659.3
	8.00	7.	00 16	\$686.64	\$10,986.2
	8.00	7.	00 16	\$610.15	\$9,762.40
	8.00	7.	00 16	\$1,017.13	\$16,274.0
	8.00	7.	00 16	\$762.08	\$12,193.2
	8.00	7.	00 16	\$641.72	\$10,267.5

Commodity Costs

ID	Commodity Description	Cost Per Item	Quantity	Total Costs
		\$39.80	20	\$796.00
		\$34.80	50	\$1,740.00
		\$46.30	100	\$4,630.00
	MADELANA AND ANALASSA AND AND AND AND AND AND AND AND AND AN	\$25.60	100	\$2,560.00

Equipment Costs

ID Equipment Description	Cost Per Item	Qty	Rate Per Day	Qty	# Days Used	Total Cost
	\$58.00	76	\$0.00	0	0	\$4,408.00

Other Costs

ID	Other Description	Cost Per Item	Qty	Rate Per Day	Qty	# Days Used	Total Cost
4585	Miscellaneous (dry cleaning for 37 troopers for 14 days and other	\$10,000.00	1	\$0.00	0	0	\$10,000.00
	unforcasted expenses)						

Emergency Management Assistance Compact (EMAC) Interstate Mutual Aid Request For Assistance Form REQ-A, 2011



1102-REO A-5287-1-3

SECTION III TO BE COMPLETED BY THE REQUESTING STATE

Date	10/28/2016		
Event	Dakota Access Pipelir	e (DAPL) Protest October 2016	
Mission Description:	37 Ohio Sworn Law Enforcement Officers		
Req. State Tracking #:	16-073-154	Assisting State Tracking #:	

The EMAC Authorized Signature below certifies that information contained herein accurately represents to the best of their knowledge, the resource request at this time

Name of EMAC Authorized Representative	GREGMIWILZ Di	CCTON
Signature of EMAC Authorized Representative	7 mily	Date 10/29/16